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INSTRUCTIONS AND INFORMATION

This paper consists of TWO sections.

SECTION A: COMPREHENSION (25)

SECTION B: LANGUAGE (15)
TOTAL: (40)
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SECTION A: COMPREHENSION
Question SECTION A - COMPREHENSION Mark | Level
1.1 The principal or a teacher or the boy himself. (Or any relevant answer)Vv 1 2
1.2 Following a shorter route to get to a place quicker.v 1
1.3 He picked him up and put him into his shirt pocket.v 1 2
1.4 The second giant was twice as ugly V and fierce V as the first giant. 2 1
1.5 He asked what was in the first giant’s pocket.v 1 2
1.6 They were upset because the boy did not want to tell them the secret.Vv 1 2
1.7 a) father v 2 1
b) mothersv
1.8 1%t giant said: “Well?"V
2" giant said: “We’re waiting.”V 3 3
3™ giant said: “I'll count to three.”V
1.9 They made a promise to let the boy go if he tells them the secret.v 1 1
1.10 They winked at one another.v 1 2
1.11 DV 1 1
1.12 The first giant rolled his eyes and said it is terrible and ran away deep
into the woods. V The second giant’s ears twitched and he roared and 3 4
ran off. V The third giant’s teeth chattered and his hair stood on end. Vv
1.13 His hair stood up.V 1 2
1.14 She didn’t shout and ran away. V She just gave him some supper and
put him to bed. v 2 1
1.15 a) FALSE v 1 1
1.16 The giants ran away because the boy has measles. V/ They did not want 1 2
to get sick.
1.17 The boy had a secret to tell his mom. vV /The boy was sick. 1 2
1.18 boysv 1 1
TOTAL SECTION A 25
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SECTION B: LANGUAGE STRUCTURES AND CONVENTIONS
QUESTION EXPECTED ANSWER MARKS
2.1 Proper Noun —Simon V
Conjunction —because /so V
Adverb — quickly v 5
Verb —tell /ran V
Preposition —into V
2.2 The little boy said thatVv he was on his way home. v 2
2.3 stared v 1
2.4 Svuddenly, Vhuge and ugly giant appeared in front of Simon. 2
2.5 ugliest v 1
2.6 branch — The bird is sitting on a branch in the tree. v 2
branch — The Absa bank in Benoni is a big branch. vV (Sentences must
have a clear meaning.)
2.7 would not Vv 1
2.8 The little boy slid down the tree and ran home as fast as he could. v 1
(Incorrect if they wrote: The little boy slid down the tree and the little
boy ran home as fast as he could.)
TOTAL SECTION B 15
GRAND TOTAL 40




